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Question Number : 1 Question Id : 64635010339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E45350406593. 1
645235040700, 2



E4E35040701. 3
64535040702, 4

Question Number : 1 Question Id : 64635010339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frtatiad § & =9 =5 AT9THeRal =i "7 = & 7

(1) HEF.‘.:I TR G = i (2) i g
(3)  HITTHF Foa ;W (4) T4 1 ZEU F HE FoEG F AT
Options:

E45350406593. 1
645235040700, 2
64535040701, 3
64535040702, 4

Question Number : 2 Question Id : 64635010340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535040703, 1
64535040704, 2
E4E35040705. 3
E4E35040706. 4

Question Number : 2 Question Id : 64635010340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040703, 1

64535040704, 2

64535040705, 3

64535040706, 4

Question Number : 3 Question Id : 64635010341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535040707, 1
4835040708, 2
4535040709 2
64535040710, 4

Question Number : 3 Question Id : 64635010341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g™ AT | HEid A TE TR e TR

(1) = (2) Tretfes
(3) wHEa (4) TS Ed
Options:

E4E35040707. 1
64535040708, 2
64535040709, 3
64535040710, 4

Question Number : 4 Question Id : 64635010342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35040711. 1
E4E35040712. 2
64535040713, 3
64535040714, 4

Question Number : 4 Question Id : 64635010342 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535040711, 1
64535040712, 2
E4E35040713. 3
E4E35040714. 4

Question Number : 5 Question Id : 64635010343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
64535040715 1

E4E35040716. 2
E4E35040717. 3
64535040718, 4

Question Number : 5 Question Id : 64635010343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fefateEa § & 19 9 s <t -gaererss faema 27

1) = (2) T TETEHE
(3) TR Hedl AT HI TEEH FEA (4) T ¥ fgamE w0
Options:

645350407151
64535040716, 2
64535040717, 3
E4E35040715. 4

Question Number : 6 Question Id : 64635010344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

64835040719, 1
4535040720, 2
64535040721, 5
4535040722, 4

Question Number : 6 Question Id : 64635010344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635040719, 1
425040720, 2
CAE2E040721. 2
425040722, 4

Question Number : 7 Question Id : 64635010345 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535040723, 1
64535040724, 2
64535040725, 3
EAE35040726. 4

Question Number : 7 Question Id : 64635010345 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =
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Options:

64535040723, 1
E4E35040724. 2
4535040725, 5
64535040726, 4

Question Number : 8 Question Id : 64635010346 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535040727, 1
64535040728, 2

: No Display Question Number :

Yes

Yes

Yes



E4E35040729. 3
64535040730, 4

Question Number : 8 Question Id : 64635010346 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635040727, 1

64635040728, 2

64635040729, 3

£4835040730. 4

Question Number : 9 Question Id : 64635010347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

645350407211

G4AE35040732. 2

64535040733, 3

64535040734, 4

Question Number : 9 Question Id : 64635010347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835040731, 1
4535040732 2
64535040722, 5
64535040734, 4

Question Number : 10 Question Id : 64635010348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350407351

64535040736, 2

G4AE35040727. 2

64535040738, 4

Question Number : 10 Question Id : 64635010348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535040735, 1
46835040736, 2
64535040737, 5
64535040728, 4

Sub-Section Number : 2
Sub-Section I1d: 646350492
Question Shuffling Allowed : Yes

Question Id : 64635010349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635010350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64635040739, 1

646535040740, 2

64635040741, 3

646535040742, 4

Question Number : 12 Question Id : 64635010351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535040743, 1
64535040744, 2
E4E35040745, 3
EAE35040746, 4

Question Number : 13 Question Id : 64635010352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35040747. 1



E4E35040748. 2
64535040745, 3
64535040750, 4

Question Number : 14 Question Id : 64635010353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525040751. 1
E4535040752. 2
64535040753 3
64635040754 4

Question Number : 15 Question Id : 64635010354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535040755, 1

64535040756, 2

64535040757, 3

64535040758, 4

Question Id : 64635010349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635010350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
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Options:

64835040739, 1
4535040740, 2
64535040741, 5
64535040742 4

Question Number : 12 Question Id : 64635010351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535040743, 1
64535040744, 2
64535040745, 3
E4E3504074E, 4

Question Number : 13 Question Id : 64635010352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35040747. 1
E4E35040748. 2
64535040745, 3
64535040750, 4

Question Number : 14 Question Id : 64635010353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4e35040751. 1
64535040752, 2

E4E35040753. 3
E4E35040754. 4

Question Number : 15 Question Id : 64635010354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
YA TS § ST WIS AT Had: 41 G el T R Y

(1)  =ifara ot w2 wiaey =
(2)  ATHS] =l Teddl = GHigTEE =" |

(3)  ATHs TrE-T Fosl F1 T =7

(4)  HF &= ° fawE F qeeE w4
Options:
4025040755 1
646235040756, 2
64635040757, 2
64535040755, 4

Sub-Section Number: 3
Sub-Section 1d: 646350493
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635010355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
4525040759 1

E4E35040760. 2
E4535040761. 3
64535040762, 4

Question Number : 16 Question Id : 64635010355 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835040759, 1
4535040760, 2
64535040761, o
4535040762, 4

Question Number : 17 Question Id : 64635010356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535040763, 1
4835040764, 2
4535040765 2
64535040766, 4

Question Number : 17 Question Id : 64635010356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535040763, 1
64535040764, 2
E4E35040765. 3
EAE35040766. 4

Question Number : 18 Question Id : 64635010357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25040787. 1
EAE25040768. 2
E4535040769. 3
64535040770, 4

Question Number : 18 Question Id : 64635010357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835040767, 1
64535040768, 2
64535040769, o
64535040770, 4

Question Number : 19 Question Id : 64635010358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4E35040771. 1
6435040772 2
64535040773, 3
64535040774, 4

Question Number : 19 Question Id : 64635010358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040771, 1
EAE35040772. 2
EAE35040773. 3
BA5350407 74, 4

Question Number : 20 Question Id : 64635010359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



EAE35040775. 1
64535040776, 2
64535040777, 3
64535040778, 4

Question Number : 20 Question Id : 64635010359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4) 4, TH, TEATEA, TIEED
Options:
64535040775, 1
6435040776, 2
64535040777, 5
64535040778, 4

Question Number : 21 Question Id : 64635010360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

645350407751
64535040780, 2
64535040781, 3
EAE35040782. 4

Question Number : 21 Question Id : 64635010360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

645350407739, 1
64535040780, 2
64535040781, 3
EAE35040782. 4



Question Number : 22 Question Id : 64635010361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E35040783. 1
E4E35040784. 2
64535040785, 3
64535040756, 4

Question Number : 22 Question Id : 64635010361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E35040783. 1
E4E35040784. 2
64535040785, 3
64535040756, 4

Question Number : 23 Question Id : 64635010362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535040787, 1
64535040788, 2
E4E35040789. 3
E4E35040730. 4

Question Number : 23 Question Id : 64635010362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

64535040787, 1
64535040788, 2
64535040759, 3
E4E35040730. 4

Question Number : 24 Question Id : 64635010363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

64535040731, 1
64535040732, 2
64535040733, 3
E4E35040734, 4

Question Number : 24 Question Id : 64635010363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

64535040731, 1
64535040732, 2
E4E35040733. 3
EAE35040734. 4

Question Number : 25 Question Id : 64635010364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

64535040735, 1



E4E35040736. 2
64535040737, 3
64535040735, 4

Question Number : 25 Question Id : 64635010364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

64535040735, 1
64535040736, 2
E4E35040737. 3
E4E35040735. 4

Question Number : 26 Question Id : 64635010365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E350407395. 1
E4E35040800. 2
64535040801, 3
64535040802, 4

Question Number : 26 Question Id : 64635010365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4E350407959. 1
645235040800, 2
64535040801, 3
E453504080Z. 4

Question Number : 27 Question Id : 64635010366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35040803. 1
E4E35040804. 2
64535040805, 3
64535040806, 4

Question Number : 27 Question Id : 64635010366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35040803. 1
E4E35040804. 2
E4535040805. 3
64535040806, 4

Question Number : 28 Question Id : 64635010367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535040807, 1
64535040808, 2
64535040809, 3
E4E35040810. 4

Question Number : 28 Question Id : 64635010367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535040807, 1
E4E35040808. 2



E4E35040808. 3
64535040810, 4

Question Number : 29 Question Id : 64635010368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35040811. 1
EAE35040812. 2
E4535040813. 3
64535040814, 4

Question Number : 29 Question Id : 64635010368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
64635040511, 1
64635040512 2

64535040813, 3
64535040814, 4

Question Number : 30 Question Id : 64635010369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535040815. 1
64535040816, 2
64535040817, 3
64535040815, 4



Question Number : 30 Question Id : 64635010369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535040815. 1
E4E35040816. 2
64535040817, 3
645350408158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350494
Question Shuffling Allowed : Yes

Question Id : 64635010370 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635010371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E35040813. 1
E4E35040820. 2
64535040821, 3
64535040822, 4



Question Number : 32 Question Id : 64635010372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

E4E35040823. 1
E4E35040824. 2
64535040825, 3
64535040826, 4

Question Number : 33 Question Id : 64635010373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535040827, 1
64535040828, 2
64535040829, 3
E4E35040820. 4

Question Number : 34 Question Id : 64635010374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535040831, 1
64535040832, 2
E4E35040833. 3
E4E35040824. 4

Question Number : 35 Question Id : 64635010375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35040835. 1



E4E35040836. 2
64535040837, 3
64535040828, 4

Question Id : 64635010370 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635010371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535040819. 1
64535040820, 2
64535040821, 3
E4535040822. 4

Question Number : 32 Question Id : 64635010372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535040823, 1
64535040824, 2
64535040825, 3
E453504082E. 4



Question Number : 33 Question Id : 64635010373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535040827, 1
64535040828, 2
E4E35040829. 3
E4E35040820. 4

Question Number : 34 Question Id : 64635010374 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35040821. 1
E4E35040832. 2
64535040833, 3
64535040824, 4

Question Number : 35 Question Id : 64635010375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535040835, 1
E4E35040836. 2
E4E35040837. 3
64535040828, 4

Sub-Section Number: 5
Sub-Section Id: 646350495
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635010376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

4535040839, 1
64535040840, 2
64535040841, =
64535040542, 4

Question Number : 36 Question Id : 64635010376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E453504053359. 1

64535040340 2

64635040341 =

E4AB35040342. 4

Question Number : 37 Question Id : 64635010377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535040843, 1
64535040844, 2
64535040845, 3
E4E3504084E. 4

Question Number : 37 Question Id : 64635010377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535040843, 1
64535040844, 2
64535040845, 3
E4E3504084E. 4

Question Number : 38 Question Id : 64635010378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

64535040347 1

646350403458 2

64835040349 =

E4525040350. 4

Question Number : 38 Question Id : 64635010378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35040847. 1
64535040848, 2
64535040849, 3
64535040850, 4

Question Number : 39 Question Id : 64635010379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35040851. 1
E4E35040852. 2



E4535040853. 3
64535040854, 4

Question Number : 39 Question Id : 64635010379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535040851, 1
64535040852, 2
E4E35040853. 3
EAE35040854. 4

Question Number : 40 Question Id : 64635010380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35040855. 1
E4E35040856. 2
64535040857, 3
64535040858, 4

Question Number : 40 Question Id : 64635010380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535040855. 1
64535040856, 2
64535040857, 3
64535040858, 4

Question Number : 41 Question Id : 64635010381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535040859. 1
64535040860, 2
64535040861, 3
64535040862, 4

Question Number : 41 Question Id : 64635010381 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

645350408549, 1
64535040860, 2
E4E35040861. 3
EAE35040862. 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635010382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535040862, 1
E4E35040864. 2
E4E35040865. 3
E4535040866. 4

Question Number : 42 Question Id : 64635010382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

54535040863, 1
64535040864, 2
64535040865, 3
EAE3504086E6. 4



Question Number : 43 Question Id : 64635010383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535040867, 1
64535040868, 2
64535040869, 3
EAEZ5040870. 4

Question Number : 43 Question Id : 64635010383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535040867, 1
64535040868, 2
E4E35040869. 3
EAE35040870. 4

Question Number : 44 Question Id : 64635010384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535040871, 1
E453504087Z2. 2
E4E35040873. 3
EAE35040874. 4

Question Number : 44 Question Id : 64635010384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535040871, 1
64535040872, 2
E4E35040873. 3



EAE35040874. 4

Question Number : 45 Question Id : 64635010385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

645350405875, 1
64535040876, 2
E4E35040877. 2
E4E35040878. 4

Question Number : 45 Question Id : 64635010385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635040875, 1
64635040876, 2
64635040877, 3
64635040878. 4

Question Number : 46 Question Id : 64635010386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

645350408749, 1
64535040880, 2
E4E35040881. 3
E4E35040882. 4

Question Number : 46 Question Id : 64635010386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E35040873. 1
64535040880, 2
64535040881, 3
64535040882, 4

Question Number : 47 Question Id : 64635010387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4525040885. 1

64535040854, 2

64535040385, =

64835040386, 4

Question Number : 47 Question Id : 64635010387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
64835040883, 1
64535040554, 2

E4E35040885. 3
E4E35040886. 4

Question Number : 48 Question Id : 64635010388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35040887. 1
64535040888, 2



E4E35040889. 3
64535040830, 4

Question Number : 48 Question Id : 64635010388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
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Options:

64535040887, 1
64535040888, 2
E4E35040889. 3
E4E35040830. 4

Question Number : 49 Question Id : 64635010389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825040531. 1

EAE25040892. 2

E453504083593. =

645350403594 4

Question Number : 49 Question Id : 64635010389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635040891, 1
64635040892, 2

E4E350408393. 3
E4E35040894. 4

Question Number : 50 Question Id : 64635010390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E4535040895. 1
64535040836, 2
64535040837, 3
64535040838, 4

Question Number : 50 Question Id : 64635010390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

645350408585, 1
64535040836, 2
64535040837, 3
E4E35040835. 4

FPART II Mass Cormnrmnication and Journalismmn

Section Id : 646350290

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350496
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635010391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In Transactional Analysis theory, the author named “the state of mind’ as
1. ego
2. attimade
3. mood

4.  mental state
Options:
E4535040393. 1
E4E825040900, 2
E4525040901. =
E4535040902. 4

Question Number : 51 Question Id : 64635010391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SRR A g ddas I Eem B  m A 8
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2. figfaeh
3. wfRufah
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Options:

4635040399, 1
64535040900, 2
64535040901, =
64535040302, 4

Question Number : 52 Question Id : 64635010392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Dependista model of development communication is basieally
1. ideclagical
2. mechanical
3. natural
4.  supranational

Options:

64535040903, 1
E4E35040904, 2
E4E35040305. 2
64535040906, 4

Question Number : 52 Question Id : 64635010392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350403903, 1
645350403904, 2
64535040305, 3
E4E35040808, 4

Question Number : 53 Question Id : 64635010393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The first full-fledged newspaper editor among the following to become the Union
Minister for Information and Broadcasting was

1. P Upendra
2. P A Sangma
3. P R DasMunshi

4. E. R. Diwakar

Options:

4635040907, 1
64535040908, 2
64535040909, =
64535040310, 4

Question Number : 53 Question Id : 64635010393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e & 8 19 wun quien - U HueE O W S g Ud WE HE bt
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Options:

64535040907, 1
64535040908, 2
645350403909, 3
645350403910, 4

Question Number : 54 Question Id : 64635010394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The third sector initiatives are meant to support the policy framework of the

1. prvate sector

2 cooperative sector

3.  corporate sector

4.  public sector

Options:

64635040911, 1
64835040912 2
64535040912 5
64535040914, 4

Question Number : 54 Question Id : 64635010394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040911, 1
64535040912, 2
64535040912, 3
E4E35040914. 4

Question Number : 55 Question Id : 64635010395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following intemnational agencies is criticised for representing the
Westem interests in global economie development?

1. Oxfam

2. ILo

3. IMF

4. JICA
Options:

E4E35040915. 1
E4E35040916. 2
64535040917, 3
645350409158, 4

Question Number : 55 Question Id : 64635010395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040915, 1
64535040916, 2
64535040917, 3
E4E35040915. 4

Question Number : 56 Question Id : 64635010396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[dentify the news portal run exclusively by women for rural joumnalism in India :
1. Gaon Connection
2. EKhabar Lahariva
3. Grassroot
4. Kumkshetra

Options:

64535040919, 1
64535040920, 2
64835040921, 2
64535040922, 4

Question Number : 56 Question Id : 64635010396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040919, 1
E4E35040920. 2
E4E35040921. 3
64535040922, 4

Question Number : 57 Question Id : 64635010397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The epistemolagy of communitarian discourse in development communication was
analysed by

1. Majid Tehranian

2. E.M Fogers

3. Daniel Lemer

4. Andre Gunder Frank
Options:
64635040923 1
64535040924, 2

E4E350408925. 3
EAE35040926. 4

Question Number : 57 Question Id : 64635010397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freTe R A wETre Sewl & A fawe @ e e @ s e fm e
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Options:

64535040923, 1
64535040924, 2
64535040325, =
4835040926, 4

Question Number : 58 Question Id : 64635010398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Laissez faire doctrine is associated with which of the following normative theories?

1 Marxist theory
2. Libertarian theory
3. Authoritarian theory
4 Democratic participation theory

Options:

E4535040927. 1

64535040928, 2

64535040929, 3
64535040930, 4

Question Number : 58 Question Id : 64635010398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
C4E25040927. 1
C4E3E040928. 2

64535040929, 3
E4E350408920. 4

Question Number : 59 Question Id : 64635010399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Everett Rogers in his book Diffusion of Innovations adopted the methodology of

1. survey design

2. meta-analysis

3.  expenmental design
4. case study

Options:

64535040931, 1
64535040932, 2
E4E35040922. 2
64535040924, 4

Question Number : 59 Question Id : 64635010399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wETe 1o 7 HUH e TEREA o sHee | e uafa &1 s un?
1. wdyu-sfiee
2. STt (- g
3. TS HET

4. ofeas sgga
Options:
64535040921, 1
64535040932, 2
64535040933, 3
64535040924, 4

Question Number : 60 Question Id : 64635010400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the mandate of the B. G. Verghese Commirtee in 19777
1. To look into the issue of autonomy of Doordarshan and All India Radie
2.  To make policy for FM radio stations
3. To improve mural radio coverage and access

4. To make policy for the community radio

Options:

64535040935, 1
64535040936, 2
4835040927 2
4535040928, 4

Question Number : 60 Question Id : 64635010400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535040935, 1
64535040936, 2
64535040337, 2
64535040338, 4

Question Number : 61 Question Id : 64635010401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Visual stimuli which indicate relationships but not necessarly affect a response are
called :

1. anindex

2. asignal

3.  aperspective
4. ashot

Options:

64535040939, 1
64535040940, 2
64535040941, =
4835040942 4

Question Number : 61 Question Id : 64635010401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350409359, 1
E4E35040940, 2
E4E35040941. 3
64535040942, 4

Question Number : 62 Question Id : 64635010402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A virtual realivy vides aspeet is
1. 90 degree
2. 120 degree
3. 360 degree
4. 180 degree
Options:
645350409435 1
64635040944 2

64535040945, 3
E4E35040894E, 4

Question Number : 62 Question Id : 64635010402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el Ty T UR R
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4. 1sofesh
Options:

E4535040943. 1
E4535040944, 2
64535040945, 3
645350403946, 4

Question Number : 63 Question Id : 64635010403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is NOT a video editing software?

1.  Final CutPro
2. Premier Pro
3. Pinnacle
4. Protools

Options:

64535040947 1

64635040945 2

64535040949, 3
E4E350408950. 4

Question Number : 63 Question Id : 64635010403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535040547 1

E4E35040945. 2
E4E35040943. 3
64535040950, 4

Question Number : 64 Question Id : 64635010404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following file farmats was develaped by Adobe as an open-standard raw

format?
1. TPEG
2. TIFF
3. DNG
4. PNG
Options:
E45250403951. 1
E4E25040952 2
64535040953 =
64535040954 4

Question Number : 64 Question Id : 64635010404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. JPEG

2. TIFF

3. DNG

4 PKNG
Options:
64635040951, 1
64535040352, 2
64635040953, 3
64635040954, 4

Question Number : 65 Question Id : 64635010405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What tvpe of a radio station would be best to address the concems and issues of a
particular group of peaple?

1. FM station

2. AM station

3. Communitv radio station
4. Sartellite radie station

Options:

64535040955 1

64635040956, 2

64535040957, 3

E4E525040958. 4

Question Number : 65 Question Id : 64635010405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. UF.UA ®9H

2. U UAEEH
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4. IEmiftnRTs

Options:

64535040955, 1
E4E35040956. 2
4535040357, 2
64535040958, 4

Question Number : 66 Question Id : 64635010406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If an adwvertisement draws attention to 2 brand through sensual communication, which
of the following appeals is it making use of?

1. Lifestyvle

2. Sexappeal

3. Provocation

4, Rationale
Options:
4525040959 1
CAEZE040960. 2

E4E350408961. 3
EAE35040962. 4

Question Number : 66 Question Id : 64635010406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040959, 1
E4E35040960. 2
E4E35040961. 3
BAE35040962. 4

Question Number : 67 Question Id : 64635010407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which tvpe of organisational culture prefers to look outside its organisation to stav
updated?

1. Role culture
2. Power culture
3. Task culture

4, Person culture

Options:

64535040963, 1
64535040964, 2
64535040365, =
4835040966, 4

Question Number : 67 Question Id : 64635010407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

E4E35040963. 1
E4535040964. 2
64535040965, 3
64535040966, 4

Question Number : 68 Question Id : 64635010408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A group of detailed, descriptive content analysis statistics that examines online
messages, volume, tone and engagement is called

l.  boundary scanning
2 communication audit
3.  gatekeeping research

4. message analvtics

Options:

64535040967, 1
E4E35040968. 2
64535040969, 5
64535040970, 4

Question Number : 68 Question Id : 64635010408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040967, 1
E4E35040965. 2
E4E35040963. 3
BAE35040970. 4



Question Number : 69 Question Id : 64635010409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

It helps in identifving a brand, is timeless, reproducible, memorable and can be legally
protected. It is the

1. brand image
2. corporate identity
3. patent

4.  annual report
Options:
4535040971, 1
64535040972, 2
64535040973 =
64535040974, 4

Question Number : 69 Question Id : 64635010409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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1. w#iswisl
2. HUNE UgEE
3. Uewe
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Options:

64535040971, 1
64535040972, 2
64535040973, 3
E4E350408974, 4

Question Number : 70 Question Id : 64635010410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the segmentation determined by a large number of variables like purchase
occasions, benefits sought, user status and usage rate called?

1. Dem Dgraphic
2. Psychographic
3.  Behaviouristic

4. Locational
Options:
64535040975 1
64635040976, 2
64535040977, 3
E4E25040975. 4



Question Number : 70 Question Id : 64635010410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535040975, 1
64535040976, 2
64535040977, 3
64535040975, 4

Question Number : 71 Question Id : 64635010411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which development communication model people are expected to solve their own
problems?

1. Dominant paradigm
2. Organic model
3. Mechanistic model

4, Limited effects model

Options:

4535040979, 1
64535040980 2
64535040381, =
64535040332, 4

Question Number : 71 Question Id : 64635010411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4535040579, 1

E4E35040980. 2



E4E35040981. 3
64535040982, 4

Question Number : 72 Question Id : 64635010412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the major indicator of development according to the communitarian view?

1.  Per capita income

e

Free movement of goods and services
3. Political and intellectual freedom

4. Intellectual property rights
Options:
64535040953 1
64635040954, 2
64535040985 5
E4E25040958, 4

Question Number : 72 Question Id : 64635010412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535040983, 1
48350409284, 2
4535040985 2
64535040986, 4

Question Number : 73 Question Id : 64635010413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which theory of the following is related to developmental communication?
1. Culrivation analysis
2. Spiral of silence

Magic bullet

el

4. Two-step flow

Options:
6435040857, 1



E4E35040988. 2
64535040985, 3
64535040930, 4

Question Number : 73 Question Id : 64635010413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35040987. 1
64535040988, 2
64535040959, 3
64535040930, 4

Question Number : 74 Question Id : 64635010414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ferdinand de Saussure divided language into
1. encoding and decoding

2. content and style

Lad

sub-text and hidden meaning

4.  langue and parcle

Options:
45350405591, 1

E4E35040932. 2
E4E35040993. 3
64535040954, 4

Question Number : 74 Question Id : 64635010414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535040991, 1
4835040992 2
4535040992 2
64535040994, 4

Question Number : 75 Question Id : 64635010415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 15 the bluepnnt of newspaper design called?

1.  Visnal print

2. Dummy
3. Gallery
4.  Skeleton

Options:

4535040995, 1
64535040996, 2
64535040937, =
64535040995, 4

Question Number : 75 Question Id : 64635010415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535040995, 1
64535040996, 2
4835040997 2
4535040998, 4

Question Number : 76 Question Id : 64635010416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The financial health of Indian news agenecies is affected because of
1. decline in advertising support
2. growth of local newspapers
3. lack of professional manpower

4. emergence of news portals



Options:

64535040999, 1
4835041000, 2
4535041001, 2
64535041002, 4

Question Number : 76 Question Id : 64635010416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I TATER Tai-at @t i Rl e e mafda 3t 22
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Options:
646350405999, 1
646325041000, 2

64535041001, 3
E4E35041002. 4

Question Number : 77 Question Id : 64635010417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Designed with journalistic visual materials and faects, ‘Gone Gitmo” project offers the
users to enter Guantanameo Prison Camp as a prisoner and experience it. What type of

journalism does ‘Gone Gitmo' fall under?
1.  Analytical journalism
2 Guemnlla journalism
3.  Gonzo joumnalism

4 Immersive journalism

Options:

4635041003, 1
64535041004, 2
64535041005, =
64535041006, 4

Question Number : 77 Question Id : 64635010417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535041003, 1
64535041004, 2
64535041005 =
64535041006, 4

Question Number : 78 Question Id : 64635010418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following CANNOT be included in pitfalls of copywriting?

1. Vagueness

2. Double meaning phrases

3. Stereotvping
4, Unintentional defamation

Options:

64535041007, 1
64535041008, 2
64835041009 2
4535041010, 4

Question Number : 78 Question Id : 64635010418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041007, 1
64535041008, 2
E4E35041009. 2
4535041010, 4



Question Number : 79 Question Id : 64635010419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following does NOT fall in the purview of ASCI's code of self-regulation

for advertisements?

1. Nottobe used for crass promotion in 2 monopolistic market

R

Truthful and fair to consumers and competitors
3. Within bounds of generally accepted standards of public decency

4. Not to be used indisconminately for the promotion of product hazardous to
the society/individuals

Options:

64535041011, 1
64535041012, 2
64535041012
64535041014, 4

Question Number : 79 Question Id : 64635010419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041011, 1
64535041012 2
64835041012 =2
64535041014, 4

Question Number : 80 Question Id : 64635010420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the suggestion of Fobert McNamara for development of the Third World
countries?

1.  Totakevillage as a unit

t

To take block as a unit
3. To take zone as a unit

4. To takeregion as a unit

Options:
64635041015, 1
64535041016, 2



E4E35041017. 3
645350410158, 4

Question Number : 80 Question Id : 64635010420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041015, 1
64535041016, 2
64535041017, 5
64535041015, 4

Question Number : 81 Question Id : 64635010421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration spent on each client when multiplied by the salary of the resource vields
1.  human resource analysis
2. business analysis
3. cost-benefit analysis

4, time-cost analvsis

Options:
4235041019, 1

E4E35041020. 2
E4E35041021. 3
64535041022, 4

Question Number : 81 Question Id : 64635010421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535041019, 1



E4E35041020. 2
64535041021, 3
64535041022, 4

Question Number : 82 Question Id : 64635010422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT a function of marketing services department of an ad
ageney?

1.  Quality control
2. Svstems and processes
3.  Backend operations

4.  Streamlining financial aspects

Options:

64535041023, 1
64535041024, 2
64535041025, 5
64535041026, 4

Question Number : 82 Question Id : 64635010422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fFrafafan # & = @ = fawe i F Rom & favm = i &7
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Options:

64835041023, 1
4535041024, 2
64535041025, 5
4535041026, 4

Question Number : 83 Question Id : 64635010423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of activities that people engage in while looking for products to satisfy their
needs and desires is called

1.  audience research
2, consumer behaviour
3. brainstorming

4.  pre-test research

Options:
64535041027, 1



EAE35041028. 2
64535041025, 3
64535041020, 4

Question Number : 83 Question Id : 64635010423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535041027, 1
64535041028, 2
64535041029, 3
64535041030, 4

Question Number : 84 Question Id : 64635010424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the fallowing variables can be counted in specific output analyvsis?

1. Source of story

(]

Degree of exposure

Tvpe of story

LF )

4 Footfalls in an event
Options:
645350410211
64535041032, 2
64535041033, 3
64535041024, 4

Question Number : 84 Question Id : 64635010424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:



E4E35041021. 1
64535041032, 2
64535041033, 3
64535041024, 4

Question Number : 85 Question Id : 64635010425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following press releases is issued to respond to an adverse comment in
media by concerned organization?

1. Announcement release

=

FEesponse news release
3. Badnewsrelease

4. Spotnews release
Options:
4535041035, 1
64535041026, 2
E4E25041037. 3
E4535041035. 4

Question Number : 85 Question Id : 64635010425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041035, 1
64535041036, 2
64535041037, 2
4835041038, 4

Question Number : 86 Question Id : 64635010426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The correct sequence of steps of pre-crisis phase is

1. response-recoverv—development

Bt

preparedness—mitigation—prevention
3. relief-recovery—rehahilitation

4.  planning—prevention—evaluation
Options:
646350410359 1
64535041040 2
E4525041041. =
E4525041042 4

Question Number : 86 Question Id : 64635010426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3 Tpa-EHie-gHaEa
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Options:

64835041039, 1
4535041040, 2
64535041041, =
64535041042 4

Question Number : 87 Question Id : 64635010427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the frequency of Saimik Samachar?

1. Weekly

2. Monthly

3.  Fortightly

4.  Bi-annual
Options:

E4E35041042. 1
64535041044, 2
64535041045, 3
64535041046, 4



Question Number : 87 Question Id : 64635010427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041043, 1
64535041044, 2
E4E35041045, 3
E4E3504104E. 4

Question Number : 88 Question Id : 64635010428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The Directorate of Adventising and Visual Publicity (DAVP) is merged with

1. Burean of Outreach and Communication

b

Directorate of Public Felations

Publications Division

Ly

4, Research & Reference Wing

Options:

64535041047, 1
4835041048, 2
4535041049 =2
64535041050, 4

Question Number : 88 Question Id : 64635010428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:
64535041047 1

E4E35041045. 2
E4E35041043. 3



E4E35041050. 4

Question Number : 89 Question Id : 64635010429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Punishment for violation of privacy is described under one section of Information
Technology Act, 2000, What is that section?

1. 66A
2. 6&6B
3. 66C
4. B6E
Options:

64535041051, 1
64535041052, 2
E4E35041053. 3
E4E35041054. 4

Question Number : 89 Question Id : 64635010429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041051, 1
64535041052, 2
64835041052 =2
4535041054, 4

Question Number : 90 Question Id : 64635010430 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

To which ethical theory the statement ‘Do unto others as vou would have them do unto
vou’ belongs?

1. Categorical imperatives

¥

Utilitarian
3. Relativism
4. Golden mean

Options:



E4535041055. 1
64535041056, 2
64535041057, 3
64535041058, 4

Question Number : 90 Question Id : 64635010430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041055, 1
64535041056, 2
E4E35041057. 3
E4E35041058. 4

Question Number : 91 Question Id : 64635010431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Covering the in-camera proceedings in a court falls under
1.  media freedom

2. conmtempt of court

3. breach of pnvilege

4. wiolation of human nghts

Options:

64535041059, 1
64535041060, 2
64535041061, 2
48350410682, 4

Question Number : 91 Question Id : 64635010431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635041059, 1
64535041060, 2
645350410681, =
64535041062, 4

Question Number : 92 Question Id : 64635010432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following campalgn assessment research techniques provides important
feedback to the advertiser while the campaign is still in progress?

1. Tracking studies

2. Projective techniques
3. Respondent diaries
4. Directed observation

Options:

64535041063, 1
64535041064, 2
64535041065 =2
4835041066, 4

Question Number : 92 Question Id : 64635010432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041063, 1
64535041064, 2
64535041065 =
4835041066, 4



Question Number : 93 Question Id : 64635010433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following determines whether a certain media combination provides the
greatest reach and frequency for the product/service?

l. Neuromarketing

2. Synergistic marketing

3. Service marketing
4 Ambush marketing

Options:

64535041067, 1
64535041068, 2
64535041069 =
64535041070, 4

Question Number : 93 Question Id : 64635010433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535041087, 1
E4E25041088. 2

E4E350410643. 3
EAE35041070. 4

Question Number : 94 Question Id : 64635010434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Using multiple sources of data to examine assertion in research is called

1.  datainterpretation

]

data triangulation
3. darta circulation

4. dataprecision

Options:
64835041071, 1
6435041072 2

E4E35041073. 3



EAE35041074. 4

Question Number : 94 Question Id : 64635010434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041071, 1
64535041072, 2
64535041073, 3
E4E35041074, 4

Question Number : 95 Question Id : 64635010435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the issue for which ‘Cambridge Analvtica’ is in news.
1. Datavisualization
2. Dataprivacy

User analysis

lad

4. Spam in user accounts

Options:

64535041075, 1
4835041076, 2
4535041077, 2
64535041073, 4

Question Number : 95 Question Id : 64635010435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535041075, 1



EAE35041076. 2
64535041077, 3
64535041078, 4

Question Number : 96 Question Id : 64635010436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In reality television programmes

(a) cameras follow people around
(b) live news stones are shown
() game shows are shot using documentary style

{d) people derive voveuristic pleasure

Which of the following combinations of factors holds tue for reality television
programmes”

1.  (b), {c)and (d)

b2

(b). (a) and (c)

(2}, (c) and (d)

Lad

4. (a), (b)and (c)

Options:

4635041073, 1
64535041080, 2
64535041081, =
64535041082, 4

Question Number : 96 Question Id : 64635010436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635041079, 1
64535041080, 2
64535041081, =
4835041082 4

Question Number : 97 Question Id : 64635010437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Dewesternisation of news values means less emphasis on
1. community programmes
2. village development
3 crime and violence

4. sports events
Options:
64535041053 1
64635041084 2
64535041085 5
E4E25041058. 4

Question Number : 97 Question Id : 64635010437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35041083. 1
E4535041084. 2
64535041085, 3
64535041056, 4

Question Number : 98 Question Id : 64635010438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a four-point lighting design, which light separates the subject from the background?

1.  Fill light
2. Back light
3. EKeylight

4. Background light

Options:

64535041087, 1
64535041088, 2
4835041089 2
64535041090, 4

Question Number : 98 Question Id : 64635010438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041057, 1
64535041088, 2
E4E35041089. 3
E4E350410350. 4

Question Number : 99 Question Id : 64635010439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which one among the following media houses first published the nvestigative
coverage of Panama papers?

1.

[

Lad

4.

Options:

The Statesman
Washington Post
Wall Street Joumnal

Die Zeit

64535041091, 1
645350410382, 2
64535041032, 3
E4E350410354. 4

Question Number : 99 Question Id : 64635010439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535041051, 1
64535041082, 2
64535041033, 3
E4E35041054, 4

Question Number : 100 Question Id : 64635010440 Question Type
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which two features make the experimental design stronger?

1.

[

4.

Options:

Fandomisation and sample size
Contrel groups and sample size
Randomisation and control groups

Sample size and error

E4E35041085. 1
E4E35041096. 2
64535041087, 3
645350410358, 4

: MCQ Option Shuffling : No Display Question Number : Yes



Question Number : 100 Question Id : 64635010440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:
4535041055, 1

E4E350410396. 2
64535041087, 3
645350410385, 4

Question Number : 101 Question 1d : 64635010441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is Intemet Saathi?

1. An initiative to reduce online gender disparity among rural Intemet users of
India

2. Voice-based online portal for central tribal India
3. Matrimonial portal
4. Job portal for BPL citizens of India

Options:

64535041099, 1
64535041100, 2
64535041101, 5
64535041102, 4

Question Number : 101 Question Id : 64635010441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

geve wdt @
1. urd & andto &6t J geve witemst & ma sifTemgs aften-gew s @
&H H- B T5
2. HE MG & garary 8= & o - snufi sitters dita
3. fafes Orw

4. wa H il € A e el F e e S Aftm ik

Options:

64535041099, 1
64535041100, 2
64535041101, 2
64835041102, 4



Question Number : 102 Question Id : 64635010442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Set up in 2015, the Indian startup company that shows films at remote locations using
mobile theatres is

1. Show Time
2. Picture Time
3, Show This

4. Picture This

Options:

64535041103, 1
64535041104, 2
64535041105, =
64535041106, 4

Question Number : 102 Question 1d : 64635010442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Hraga figet 1 Wi #1 5150w & &ai § e e ardl af 2015 & w=fta w1

WR-30 F &
1. wierEH
2. foeReEgA
3. wfem
4. TeRfEw
Options:

64535041102, 1
E4E35041104. 2
E4535041105. 2
64535041106, 4

Question Number : 103 Question Id : 64635010443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Films which are made to counter stereotyping are called
1.  counter-stereotyping films
2. transcoding films
3. counter-rranscoding films

4. revenge films

Options:
64535041107, 1
64535041108, 2



E4535041109. 3
64535041110, 4

Question Number : 103 Question Id : 64635010443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Options:

64535041107, 1
64535041108, 2
64835041109 2
45350411104

Question Number : 104 Question Id : 64635010444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The famous Bollywood actor who led a diseussion after every episode of "Hum Log’ is

1. Dilip Kumar

[

Nutan
3 Amitabh Bachchan

4. Ashok Kumar
Options:
64635041111, 1
64835041112 2
E4E525041115. =3
E4525041114 4

Question Number : 104 Question Id : 64635010444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T4 wit afdigs sfimm &1 oo sl o yrofts & o ofteis & o 9=

%1 e foa u?
1. Rdwzar
2. TH
3. HfEmHE=E
4. G FAR

Options:



E4535041111.1
64535041112, 2
64535041113, 3
64535041114, 4

Question Number : 105 Question Id : 64635010445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who is the founder of the film magarine, Caliiers di Cirema?
1.  Franceis Truffaut
2. Claude Chabrol
3. AndreBazin

4. Jean-Luc Godard

Options:

4635041115, 1
64535041116, 2
64535041117, =
64535041115, 4

Question Number : 105 Question 1d : 64635010445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Reerh e “Sfad 3 Ry  dwios &

1. BEEEEEe

2. s s

3.0 o &

4. RS e
Options:

B4535041115. 1
64535041116, 2
64535041117, 3
6453504111858, 4

Question Number : 106 Question Id : 64635010446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Whart kind of approach does Dziga Vermov's Man with a Movie Camera have?

1. Expository

e

Interactive
3. Reflexive

4, Observarional

Options:

64535041119, 1
64535041120 2
64835041121, 2
4535041122 4

Question Number : 106 Question Id : 64635010446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B &g of wdt e & ot agfa 1 e wer &1 U R7

I T

2. dufeaes

3. wiaafaa

4. UyUTES
Options:

64535041115, 1
64535041120, 2
64535041121, 3
EAE35041122. 4

Question Number : 107 Question Id : 64635010447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The studv of how images affect the ways one thinks, feels, behaves and interprets the
meaning is called

1. proxemics

2, image behaviourism
3. visual literacy

4, visual recall

Options:

64635041123, 1
64535041124 2
64535041125 =
64535041126, 4



Question Number : 107 Question Id : 64635010447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041123, 1
64535041124 2
64535041125 2
4535041126, 4

Question Number : 108 Question Id : 64635010448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which research technique is used for the objective, svstematic and quantitative
description of the manifest content in media messages !

1.  Survey analysis
2. Cohort analysis

Content analysis

lad

4. Multivanate analvsis

Options:

64535041127, 1
64835041128 2
4535041129 2
64535041120, 4

Question Number : 108 Question Id : 64635010448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
difem waw # gy Rva-ag 5 e sves o ofomomes faw & forg fre ity

aAFH1eE &1 wEn fE w82
1. e R
2. How fasem
3. fawg-ag fawmo
4. =g A
Options:

64535041127, 1
E4E35041125. 2
E4E35041129. 3



E4E35041120. 4

Question Number : 109 Question Id : 64635010449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The process of moving from thecretical definition of concepts to numerical
representation of these concepts into variables is called

1. sampling

[

testing of significance

s

operationalisation
4. hyvpothesis testing

Options:

64535041131, 1
64535041132 2
648350411232 2
64535041124, 4

Question Number : 109 Question Id : 64635010449 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
araurronal & Sxifas ufvume & 59 smuronafl &1 fafim =91 # wifeos ofeeon 91 o

P PEl Wl §
1. wferEas
2 OrlE AE-gda
3, dfem

4. Ufreeg- wiem

Options:

4635041151, 1
645350411232 2
64535041133 =
64535041134 4

Question Number : 110 Question Id : 64635010450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the relationship between vanables is linear, which of the following is comect?

1.  The relationship can be most accurately represented by a straighe line

b

All the points will fall on a curved line
3. The relationship is best represented by parallel lines

4. All the points must fall axactly on a wavy line

Options:
64535041135, 1
64535041136, 2



E4E35041137. 3
645350411258, 4

Question Number : 110 Question Id : 64635010450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041135, 1
64535041136, 2
64535041137, 2
64835041128 4

Question Number : 111 Question Id : 64635010451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which term is used to deseribe the cognitive struetures built up by people as they
interact with the environment in order to organise their experience?

1.  Schemas
2. Theones

Models

ek

4. Framewaork

Options:

64535041139, 1
64535041140, 2
64535041141, =
64535041142 4

Question Number : 111 Question Id : 64635010451 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041139, 1
64835041140 2
4535041141, =2
64535041142, 4

Question Number : 112 Question Id : 64635010452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If an independent variable is manipulated in a research method, it is kmown as

1. experimental research

b

ethnographic research

focus group discussion

)

4. participant observation
Options:
E45350411435 1
64535041144 2
64635041145 =
64535041146 4

Question Number : 112 Question Id : 64635010452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ey dfri e s catmfroamedisism oo e

1. it e

2. Tt wy

3. wfEmwE T

4. iyt S
Options:

E4535041143. 1
E4535041144. 2
64535041145, 3
64535041146, 4

Question Number : 113 Question 1d : 64635010453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Validity test is to establish the truthfulness of the content/data, whereas reliability test is

for the
1. instrument’tool
2. design

3 statistics

4. structure of the thesis
Options:
645350411471
E4525041148. 2
E4525041149 =
64535041150 4

Question Number : 113 Question Id : 64635010453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041147, 1
64535041148, 2
64535041149 =
64835041150 4

Question Number : 114 Question 1d : 64635010454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Unitisation of news is followed in

1 frame analvsis

(=]
H

deconstruction
3. content analysis

4.  cntical discourse analvsis

Options:

64535041151, 1
4535041152 2
64535041152,
64535041154 4



Question Number : 114 Question Id : 64635010454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FAER 71 9f4E =1 = fan o =1 = fead faem o 82
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3. ofodeg o

4,  HEAEATHS Wi A

Options:

64535041151, 1
64535041152 2
4535041152 =2
64535041154, 4

Question Number : 115 Question Id : 64635010455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The natural zere point is the characteristic of which level of measurement?

1. Interval

2. Ratio

3. Ordinal

4 Nominal
Options:

64535041155, 1
E4E35041156. 2
E4535041157. 3
64535041158, 4

Question Number : 115 Question Id : 64635010455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4. e
Options:

645350411551
64535041156, 2
E4E35041157. 3
E4535041158. 4



Question Number : 116 Question Id : 64635010456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) © Today citizen journalists have become a source for content in
professional media.

Beason(B) : The user-generated content is accepted as the media world is
becoming network based.

Choose the appropriate option from the following :

1. Both{A) and (R) are true, and (R) is the comrect explanation of {(A)

(]

Both (A) and (E) are true, but (R) is not the comrect explanation of (A)
3. (A)is true, but (R) is false
4. (A)is false, but (R)is true

Options:

64535041159, 1
4535041160, 2
64535041161, 5
64535041162, 4

Question Number : 116 Question Id : 64635010456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041159, 1
64535041160, 2
64535041161, =2
4835041162, 4

Question Number : 117 Question Id : 64635010457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Aggertion (A) : Mediated realism can be explained and understood in many ways.

Reason (R} : Some authors define mediated realism by its contents.
Select the approprate option from the following :
1.  Both({A)and (R) are true, and (E.) is the comect explanation of (A)
2. Both(A)and (R) are true, but (R) is not the comect explanation of (A)
3. (A)is true, but (R) is false
4. (A)is false, but (R} is true

Options:

64635041163, 1
64535041164, 2
64535041165, =
4835041166 4

Question Number : 117 Question 1d : 64635010457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535041163, 1
64535041164, 2
64835041165 =2
4535041166, 4

Question Number : 118 Question Id : 64635010458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (4) © A television programme has both temporal and formal boundaries.

Feason (R} : A programme over television is not a fragmented ourput.
Choose the appropnate option from the following :
1.  Both(A) and (R) are true, and (R) is the comect explanation of (A)
2. Both(A) and (R) are true, but (B} is not the correct explanation of (A)
3. (A)is ue, but (B) is false
4. (A)is false, but (R) s true
Options:
45250411671
E4535041168. 2

645350411645, 3
64535041170, 4

Question Number : 118 Question 1d : 64635010458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041167, 1
64535041168, 2
64835041169 2
4535041170, 4

Question Number : 119 Question Id : 64635010459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Agsertion (A) : Communication audit is an examination of an organisation’s
communication strategies, activities and programmes.

Feason (E) : It is helpful in accessing the difference between how an organisation’s
stakeholders pereeive the organisation and how it wishes to be seen.

Choose the appropriate aption from the fallewing :
1.  Both(A)and (R) are true, and (R) is the correct explanation of (A)
2. Both(A) and (R) are true, but (R) is not the comect explanation of (A)
3. (A)is true, but (R) is false

4. (A)is false, but (R)is true

Options:

4835041171, 1
64535041172, 2
64535041172, 5
64535041174 4

Question Number : 119 Question Id : 64635010459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535041171, 1
64535041172, 2
E4E35041173. 3
E4E35041174. 4

Question Number : 120 Question Id : 64635010460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) : The surveillance function confirms the tribal nature of news.

Feason (R) : Itis against the dominant rituals of our lives.

Choose the apprapriate option from the following .
1. Both({A) and (R) are true, and (E) is the comrect explanation of (A)
2. Both(A)and (R) are true, but (R) is not the comrect explanation of (A)
3. (A)is true, but (E) is false

4. (A)is false, but (B)is true

Options:

4635041175, 1
64535041176, 2
64535041177, =
64535041175 4

Question Number : 120 Question Id : 64635010460 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635041175, 1
64535041176, 2
64535041177, 2
64835041178, 4

Question Number : 121 Question Id : 64635010461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) ©  The structuralist impact of advertising is drawn from critical political
theories.

Reason (R) : The new business practices and market research approaches have
their own role to play in this regard.

Choose the appropriate option from the following
1. Both(A)and (R) are true, and (R} is the correct explanation of (A)
2. Both(A)and (R) are true, but (R} is not the comrect explanation of (A)
3. (A)is true, but (R) is false

4. (A)is false, but (R)is true

Options:

64535041179, 1
64535041130, 2
64835041181, =2
4535041182 4

Question Number : 121 Question Id : 64635010461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635041179, 1
64535041180 2
64535041181, =
648350411382 4

Question Number : 122 Question Id : 64635010462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A) © Newspaper editors are not tolerant of the digital manipulation of
photography for hard news stories, whereas they agree with such
photographs for soft news item.

Reason (R) : Nicely cropped photographs increase the sales of newspapers.
Choose the appropriate aption from the fallowing :
1. Both({A) and (R) are true, and (R) is the correct explanation of (A)
2. Both(A) and (R) are true, but (R) is not the comrect explanation of (A)
3. (A)is mue, but (B) is false

4. (A)is false, but (R) 15 true
Options:
64535041183, 1
645350411584, 2
64835041185 =2
64535041156, 4

Question Number : 122 Question Id : 64635010462 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
452504115821

E4E35041184. 2
E4535041185. 3
64535041186, 4

Question Number : 123 Question Id : 64635010463 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Asggertion (A) : The growth of magazines is a historical phenomenon all over the
world.

Feason (K) : Readers lovalty always fluctuated in selecting a particular magazine
for reading.

Choose the appropriate option from the following :
1. Both(A)and (R) are true, and (R) is the correct explanation of (A)
2. BothiA)and (R) are true, but (R) is not the comect explanation of (A)
3. (A)is true, but (B) is false
4. (A)is false, but (B)is true

Options:

64635041187, 1
64535041188, 2
64535041189, =
64535041190 4

Question Number : 123 Question 1d : 64635010463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535041187, 1
645350411388, 2
64535041189,
64535041190 4

Question Number : 124 Question Id : 64635010464 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : The “Open Sky" policy led to the rapid spread of cable and satellite
networks in India in the early 1990s.

Reason (R) : The policy was due to the restructuring of the Indian economy with a
focus on globalisation.

Choose the apprapriate option from the following :
1. Both(A) and (R) are true, and (R) is the correct explanation of (A)
2. Both(A) and (R) are true, but (R) is not the comect explanation of (A)
3. (A)is true, but () is false
4. (A)is false, but (R)is true

Options:

64635041191, 1
64535041192, 2
64535041193 =
64535041194 4

Question Number : 124 Question 1d : 64635010464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

B (A) © HEa sEE i S BeRaEy 1990 & UE & Y H WG | Haa i

ST Feasw &l dwl 4 FER gl
7% (R) : %ﬁ%ﬂﬁﬁﬂﬁ%ﬁ@ﬁﬂﬁméﬁm%%ﬁﬁ
|
Frofafan 44 v Rew ghm:

L (A) ¥R (R) ST FEE 3R (R), (A) P TEl arem 2
(a) R (R) A I E g (R), (A) # w8 T T &
(AT EfFgR) wad

4 @mmatfFgR T

el

b

Options:

64635041191, 1
64535041192, 2
64535041193 =
64535041194 4

Question Number : 125 Question 1d : 64635010465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : The National Film Awards given by the Directorate of Film Festivals
has broken nonfeature films into genres.

Reason (R) : This provides for a greater scope to give awards to diverse ideclogies
and subjects.

Choose the appropriate option from the following :

1. Both{A) and (R) are true, and (R) is the comect explanation of (A)
2. Both(A) and (R) are true, but (R) is not the correct explanation of (4)
3. (A)is tue, but (R) is false
4. (A)is false, but (R)is true

Options:

45250411951

c4ds32E041196. 2

E4E525041157. 3
E4E5250411598. 4

Question Number : 125 Question Id : 64635010465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i (A) - e T e oo fin are ot fre e @ IR-wt

Trel & &% [Eurs | wiied T a2
7% (R) : ?ﬁﬁmﬁmmaﬁwa@rwmﬁaﬁmmww
I
Frafafae 44 oft Rew ghn:

1 (A) ot R) THIEEIE R (R), (A) i &gl e @

2. (A) R R)IFEERFGR), (A) FwE o
3. @a)tfegr) T

4. (A)TTEERFER) @R

Options:

64535041195, 1
64535041196, 2
64835041197 2
4535041198 4

Question Number : 126 Question Id : 64635010466 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The sequence of four basic media effects, as listed by Marshall McLuhan and Erie
MecLuban is

1. displacement, retrieval, conversion, amplification

!‘-\.il

retrieval, conversion, amplification, displacement
3.  conversion, amplification, displacement, retrieval
4.  amplification, displacement, retrieval, conversion

Options:

64635041199, 1
64535041200 2
64535041201, =
64535041202, 4

Question Number : 126 Question 1d : 64635010466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A SEE N Ue SeaE o HiEs Hifsm & 9% 90 W o Sea

1. frerm, @ gofed, wmda

(=

T, FufiEe, wadE, e

Hufvad=, vy, s, g

Lk

4. v, R, g wuiaH

Options:

64535041199, 1
64535041200 2
64535041201, =
64535041202, 4

Question Number : 127 Question 1d : 64635010467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The chronological sequence of the following radia programmes broadeast over AR is

1. Yuva Vani, Gvan Vani, Kisan Vani, Swasth Bharat

[

Kisan Vani, Yuva Vani, Gvan Vani, Swasth Bharat

Gvan Vani, Yuva Vani, Swasth Bharat, Kisan Vani

Lad

4. Kisan Vani, Swasth Bharat, Gyan Vani, Yuva Vani

Options:

64535041203, 1
64535041204, 2
64535041205 2
4535041206, 4



Question Number : 127 Question Id : 64635010467 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

TR T v FraiaiEe e srisn ®1 semaan aaa Sty

1. oo e, g el e o, sy wa

[

ferary aoft, g aroh, e aroht, s v
3, = avoft, gar aTll, e Hid, fear anit

4. foramamd, @i HRE, 3= oo, gan andt

Options:

64535041203, 1
64535041204, 2
64835041205 =2
4535041206, 4

Question Number : 128 Question Id : 64635010468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to Fobert Entman, the comrect sequence of purposes of framing is

1. diagnose causes, define problems, suggest remedies, make moral
judgements

.I'-\J

define problems, diagnose causes, make moral judgements, suggest
remedies

3.  define problems, diagnose causes, suggest remedies, make moral
judgements

4 make moral judgements, define problems, diagnose causes, suggest
remedies

Options:

64535041207, 1
64535041208, 2
64835041209 2
64535041210, 4

Question Number : 128 Question Id : 64635010468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TaE UehA & HEN TiE Ei & wateH! @ 9E HEE B
1.l @ frem s, sesnedt @1 ofvafie s, smae e, Al fofg

FE

2. waEns # ofenfis w0, FRot & fem s, s Prolo 5@ ameme
T

3. wEEa &t ufeafia S SR $1 FeE S, §EeE g9, e Fol
FE

4. Afas fof s, g F1 ofonfta s, SRl & fHEE S, IeE
R



Options:

64535041207, 1
4835041208, 2
4535041209 2
64535041210, 4

Question Number : 129 Question Id : 64635010469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the chronology in which the following television metrics have been adapted in
India :

(a} aMAP
(b) TaM
(c) DART
(d) INTAM
Choose the comect option from the following :
L (c) (b), (d), (a)
2. () (d), (), ()
3 (@) (@) (), (d)
4. (d). () (a) (®)

Options:

64635041211, 1
64535041212, 2
64535041213 2
64835041214 4

Question Number : 129 Question Id : 64635010469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
79. MWd # oY MU e & FafatEa A faae med S Foenrgan satiE S
(2) TUHT (aMAP)
® T (TAM)
(c) ¥ (DART)
(d) %29 ANTAM)
fFrafetaa 49 w8 fwe g
L (c) (). (d), (a)
2. (¢} (d), () @
3.0 (o), (a), (), (d)

4. (d) (c). (). (b)

Options:



E4E35041211. 1
64535041212 2
64535041213, 3
64535041214, 4

Question Number : 130 Question Id : 64635010470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The comect sequence of making animation videos is
1. storvboard, modelling, texturing, ngging, animation
2. animation, modelling, texturing, storvboard, rigging
3. rigging, texruring, stervboard modelling, animation
4. storvboard rigging, texturing, modelling, animation

Options:

64535041215, 1
64535041216, 2
64835041217 2
4535041218 4

Question Number : 130 Question Id : 64635010470 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TR ditsal 21 W8l smH H soated iy

L

4w, i, tawton, Ak, uhee

Options:

648350412151
4535041216 2
64535041217, 5
64535041218, 4

Question Number : 131 Question Id : 64635010471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mateh List—I with List—II :

List=] List=II
(Theory) {Propounders Theorists)
{2) Dependency (i) Carl Hoviland
(b) Inoculation (i) Ball-Rokeach and Defleur
(c) Persuasion and attitude change (i) Lawrence Kincaid
(d) Convergence and divergence ({iv) McGuire and Papageorgis

Choose the comect option from the following -
L @r@) ()=Gv); ()= (d)=ii)
2. (@A) (o)H); (i), (dHiv)
3. (), (o)), (i) (d)-(0)
4. (@@ G (-Gv) (d)-GE)

Options:

64535041219, 1
4535041220, 2
64535041221, 5
64535041222 4

Question Number : 131 Question Id : 64635010471 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i1 3T gEt-11 =1 gaite Sifeg :
I FE-II
(i) (riten/fata wfooree)
(@) Pl @ @daade
() TERm (i) =o-FFE iR fwmr
(c) v AR sfigf ofad= (i) whafses
(d) >t iR A (v) S R g
frafafas & & of few ghu:

Lo (@) Gv): (- (d-G)
2. (aH): bHGi): (i) (dHiv)
3. (@rGv) )G -G (d-0)
4. (@) (oA (e-iv): (d)Hi)

Options:

4835041219, 1
64535041220, 2
64535041221, 5
64535041222 4



Question Number : 132 Question Id : 64635010472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
82.  Match List-I with List—1I

List=IL List=II
(Concepts of Development (Authors Theorists)
Communication)
(a) Artand science (i) F.FRozaro-Braid
(b)) Magic multiplier (i) Daniel Lemer
(c) Element of management (i) Wilbur Schramm
{d) Empathy {iv) Nora Quebral

Choose the correct option from the following :

1. (aHiv): () (i) (dGi)

bt

(a)-Q); (b)), (i), (d)y-{v)
3.0 (i), (bHiv): (i), (di)
4. (i) ) (i) (d)Gi)

Options:

E4E35041223 1

E4E35041224 2

64535041225, 3
EAEZ5041226. 4

Question Number : 132 Question Id : 64635010472 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

@*Im@—ﬂﬁﬁﬂfﬁﬂmlall:
T -1
(T THwo S S (GEeCTinrAC R GRICED)
() o HR e (o gus wEE) (i) U dwfsias
) g o e mfveea) () EFmEmwR
(¢) WEuYF 7w mhiwE offE e Gy femwm
(d) e @ Gv) g
Prafrie 49 wd e 3R

L (aHv); (i) ()i (d)Gi)
2. () (i), (eGii); (d-Gv)
3o (@G OFGv): (- (d-0)
4. (@) @)X (e-v); (d)-ii)

Options:

4535041223, 1
64535041224, 2
64535041225 5



EAE35041226. 4

Question Number : 133 Question Id : 64635010473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List=I with List=II :
List-I List—I1
(AuthorsEditors) (Titles)
(a) Stuart Hall i)y The Gutenberg Galaxy
(b} Ravmond Williams () Empire and Commumications
() Marshall McLuhan (iii) Culrre and Secien
(d) Harold Innis (iv) New Left Review

Choose the correct option from the following :
L (i), ®Hiv); (i) (d-0)
2 (aHii); (b)) (e){iv); (d)(iii)
(@-v) (b)-Gid); (0 (d)-Gi)

ek

4. @A) ®)G) (e-Gi); (d-iv)
Options:
645350412271
64AG35041228 2
64E35041229 2
64535041230, 4

Question Number : 133 Question Id : 64635010473 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TeEt-1 3R gEt-11 71 gafta Sifa

(@) ®acgm () & TeTar e

) ‘s fftas (i) TR OTS FHT
(c) e AFEEE (i) FeatUvs FrEEd
(d) wisghm Gv) =8 fag
PR 33 w8 R 9fie:

Lo (@) V) (-G (d)-0)
2 (@) (HE); (e)Gv); (d)(ii)
3. (@rGv); ()i (i) (d)ii)
4 (@) (e)HD; () (d)-iv)

Options:
64535041227, 1



EAE35041228. 2
64535041225, 3
64535041230, 4

Question Number : 134 Question 1d : 64635010474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List—I with List—II :

List-I List=II
(Journalists) (Area of waork)
(a) Patricia Mukhim (i)  Newspaper cartoonist
(b) Goutam Bhattacharva (ii) Photojournalist
(c) O.V.Viavan (i) Newspaper editor
(d) Pablo Bartholomew (Iv) Sports journalist

Choose the correct option from the following :
Lo e (o)) (e (dr-(v)
2. (e, (V) (eG) (d)i)
300 (aH); (e)HGid); (e)=(iv); (d)ii)
4. (@A) @) ()i, (dH0D

Options:

64835041231, 1
4535041232 2
64535041222 5
64535041224 4

Question Number : 134 Question Id : 64635010474 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fei-1 o Tei-11 =i ghfta St :

(2) OfeRmafEn () AR Bl SR
(b) i vgrar (i) WRIEER

(c) it #. feaa {iii) TAER U F AUCH
(d) Yl ey, V) FAEER
Profafas 48 of e 3fe:

Lo (i) ()0 (e, (div)
2. (@) )Gv); (-6 (d-G)
(i) )iy ()Gv); (d)-i)
4 (v G (ei); (d-a)

e



Options:

64535041231, 1
4835041232 2
4535041222 2
64535041224, 4

Question Number : 135 Question Id : 64635010475 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-=I with List=II :

List-1 List-II
(Software) (Usage in media)
(a) InDesign (1) Photo editing
(k) Lightroom ({ii} Websites development
() Dreamweaver (i) Aundioediting
(d) Nuendo (iv) Newspaper designing

Choose the comect option from the following -
L (aHi); (i) (i), (dHiv)
20 (ap); (b (e (dHIv)

(a(v); (B0); (eGi); (d)Gid)

Lk

4. (ar0) @)-Gv); (e (d)-GiD)
Options:
645350412351
64535041236, 2
64535041237, 3
64535041238, 4

Question Number : 135 Question Id : 64635010475 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 i -1 = gakte S

-1 -1

(ETTEaa) it & )
() FAISwIEA @ wreRRn
(b) wETEH (i) =W ITOUAE
(¢) i i)  offedofefen
@ s Gv) oI fEwmsfm
ot 9 w8 e ghh:

L (a0 () (d)-Gv)
2 (a)Hi) (b)-Gi) (e} (d)-iv)
(a)y-Gv) Q) (c)-{); (d)-{u)
4 (@) (i), (e)); (d)-(Gii)

[re

Options:
42350412251

EAE35041236. 2
E4E35041237. 3
645350412358, 4

Question Number : 136 Question Id : 64635010476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—T with List—II :

List-I List-II
{Media terms) {Connotation)
(2) Media characteristics (i) Forms of communication that
support sales
(b) Mediareach i) A standardized svstem for evaluating

the effectiveness of communication

(c) Media measurement (iii) Relative strengths and wealmesses of
each medium keeping in wview its
inherent characteristics

(d) Marketing communication  (iv) Percentage of people in various SEC
categories accessing media

Choose the comect option from the following :

L (@pa); () (e-0v) (d-0)
2. (ai); (b0 (e (d)HR)
3. (a0v): (b)) (e (d)Gii)
4. @) (G (eGi) (dGv)

Options:

4635041229 1

64535041240 2

Ede35041241. 2

45325041242 4



Question Number : 136 Question Id : 64635010476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fei-1 i gEt-11 &t gafta Fifag

-1 Hefi-11
@ifsm F w) i)
(a) it afirmam i FTERFE=IAREIimTEEn e
(b) ifEm sfiea (i) WEOR B wdfem & FEiET &g AE@iEd
et
(c) wifsmArT i) 4T o F ity afimem F e
AT eg AN FHAN g8
(d) o fomE Gv) wifem afirm o Pfim va £ 6. 9 aftwt &
it 2t afeemm
Prafifag 4 @ wd Rew gf:

L (@), (b)), (e)Hiv), (d-i)
(@)ii); (b)Hivk (eGi); (d-E
3.0 (ar0v); (bHE): (e (d)iiD)
4 (@) ), (i), (dHiv)

b

Options:
E4E35041229. 1

E4E35041240. 2
E4E35041241. 3
BAE53504124%. 4

Question Number : 137 Question Id : 64635010477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List—I with List-II :

List=I List=II
(Web series) (Host)
{a) Sacred games i) AlBalaji
(b) Breathe (i) Netflix
{c) Bose : Dead/Alive i) TVF
(d) Tripling (iv) Prime Video

Choose the comrect option from the following :
Lo (aHi): (b)) (o)), (div)
2. (@) ) () (i)
3. (apv) ()G (e)-Gii); (d)-G)
4. (@) (b)Hivk () (d)(ii)

Options:
64535041243, 1
E4E35041244 2

E4E525041245 =5



EAE35041246. 4

Question Number : 137 Question Id : 64635010477 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-1 iR F-11 1 gafem Fifew
-1 Fe-11
(@3 Hifra @)

(a) TS (@) -HecaTema
) e (i) e
(c) =9 ¥5/mEy (i) <9 ow.
(d) fefem Gv) v difEE
ieiEa § 1 g8l fdwe g

L (@) (b)) (i) (dHiv)
2 (aHid); (b (eHiv): (dHii)
3. (arv) (i) (i) (dHE)
4. (aHi): (bAv); (e (d)(ii)

Options:

64635041243 1

64535041244 2

E4E35041245. 3
E4E35041246. 4

Question Number : 138 Question Id : 64635010478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
March List—T with List—II :

List=] List=II
(Animation rechniques) (Explanarion)
(a) 3D i) Cel
(k) Motion Graphics (i) CGI
<) 2D (i) Twpographical animation
(d) Traditional (v) Vector-based

Choose the correct option from the following :
Lo (@) (e)Gid); (e=Gv); (dr-@)
2. (&) (o)) (i) (d-Gv)
300 (@) (e)Hiv) () (d)Hi)
4. (ayv) ) () (d)ii)

Options:
4535041247 1
G4C635041245. 2



E4E35041243. 3
64535041250, 4

Question Number : 138 Question Id : 64635010478 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 3 FEi-11 S FafeE Sig ;
-1 HEI-II

U e deAE) (o)
(a) 33l i @
(b) WA TTE (i) &
(© 23 (i) CEUETEET AT
(d) fewrm Gv) T
fraffam & & wft few g

1 (aHdi) (i) (v (d)i)
2. (aHi); (oG (i), (dHiv)
3. (aHii) (bGvy (eHi) (i)
4. (aHiv) (A (i), (d(ii)

Options:

C4E25041247 .1

CAEZE041 248, 2

64535041249, 3
E4E35041250. 4

Question Number : 139 Question Id : 64635010479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-II :

List=I List-II
{e-Govemnance (Functions)
initiatives)
(a) NDLM (1) Unified pavment interface app
by E-TAAL (1) IT traiming aiming BPL citizens
(c) BHIM () Real time status on  delivenng
electronic services
(d) E-Sampark {iv) Mass communication wvia mail and
mohbile

Choose the comrect option from the following :
L (@; ) ()i, (d-(v)
2. (a)Hii); (b)Hi); () (d)-(v)
30 (aHii); (v () (dHD
4. (V) o)) (e)ii); (d)-)

Options:



E4535041251. 1
64535041252, 2
64535041253, 3
64535041254, 4

Question Number : 139 Question Id : 64635010479 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 S -1l % gafte S

-1 11
&-TTO =ER Bt 9EE) @)
{2) UA.E U U (i) USieddeE 34 fearss Ud
M) Eam () T R R e At e
vt & uftna 23
(c) ¥m (i) SoEgiT~e da W & way H fam
ergn afRufa
(d) §-duF (v) ©E SR SEse & W @ 59 g
Frofafas 49 o8 fes gfh:

1. (a) (b)Gi), (e)ii); (d-v)
2 (aHii) (i) (HD); (dHiv)
(i), ()3v); (e)ii) (d)D
4 (v () (i) (d)(i)

aa

Options:

64535041251, 1
64535041252 2
64535041253 =2
4535041254 4

Question Number : 140 Question Id : 64635010480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List-I List-II
(Technical terms) (Research designs)
(a) Categonisation (i)  Survey design
(b) Thick description (i) Grounded method
{c) Imtervening vanable (i) Observation
(d) Memo writing {iv) Content analyvsis

Choose the comect option from the following :
1. (@) i), (e)Gid); (d)iv)
2 (@) ®G) (©-Gv); (d)Gii)
3. (aHiv); (o) (i) (d)-i)
4. (@G OV (@) @)
Options:
64635041255, 1
Ede35041256. 2

64535041257, 3
EAE35041258. 4

Question Number : 140 Question Id : 64635010480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

90. -1 i wEfi-11 = e Sifem

ﬁagh%lﬂm mﬁ%
(a) iR G) wdem sl
) T fem Gi) omenfr fafa
(c) wwdd = (i) Saror
(d) I oA (v) fooa-owg Rt
Prafafam 4§ 8 fwe gfm:

1. @ )Gy ©GiD); (d-iv)
2. Q@) )G (e)Gv); (d)-(ii)
3.0 (@rav); HGE); (i) (dHiD)
4 (@) (b)-Gv); (i) (dHD

Options:

64635041255, 1
4835041256, 2
64535041257, 5
64535041258, 4

Sub-Section Number: 2



Sub-Section 1d: 646350497
Question Shuffling Allowed : Yes

Question Id : 64635010481 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension

Directions :  FRead the following passage carefully and answer the questions given below :

Jim MeNamara talking on the free publicity received in the media known as ‘measurement by
kilogram’, opines that a quantifiable method doesnot ndicate the quality of coverage. It also does not
take into account whether the intended target audience was exposed to that and if ves, whether the
impact of their atimde towards the company was the intended one.

Media measurement is defined as a standardized system for evaluating the effectiveness of
communication between two or more ogranizations and their designared stakeholders through various
media channels, through predetermined parameters that would encompass quantitv, quality,
positioning of news, ite tone of coverage, ete.

Analysts often analyse the clippings on the basis of positive, negative, and neutral terms. It is
considered positive, if it favours the company’s peint of view; it is negative, if it is critical; and it is
neutral, if it has raised the necessary awareness without taking a positive or negative stand.
McMNamara argues that this simple method of analysis muns into three major challenges to its validity
and value.

The simple positive, negative, and neuwal categorization of media articles run into the degree of
subjectivity. Usually, evaluations are made casually and are based on personal judgement. Secondly,
the method is crude, as itis possible that a story may have all the elements in it; then, how it is to be
categorized. Thirdly, and most importantly, categonzing editorial articles as positive, negative, and
neutral is a simplistic method of qualitative assessment, as it is possible that the so-called positive
mav not necessarily contain the key message or thrust of the company's viewpoint. Therefore, the
article may be categorized as positive, but may not be strategically significant,

Globally, many consultaney firms and media monitoring agencies commonly use this methad of
media content analysis. In the US, PR researcher Delahave and the Reputaton Insttute have been
conducting research on free media coverage and their net positive impact on the reputation of
companies in their vearly survey. The survey findings are placed on the public domain, which
obviousy has wider access and use. Besides media measurement is also done in a number of items-
cum-centimetres, positioning after everymedia interface_ such as press conferences, facility visits,
etc., by the corporate communication managers, for their management's consumption.

Sub questions

Question Number : 141 Question Id : 64635010482 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
91. Why did the author caution the reader about “free publicity’?

1. Whether or not the audience had exposure and whether the companv’s
intention was reflected in media exposure

2. The media reports are from the perspective of media
3.  The media donot work for the company

4. The analvsis is superficial

Options:

4535041259, 1
64535041260 2
64535041261, =
64535041262 4

Question Number : 142 Question Id : 64635010483 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why does the author doubt the positive eategory of media measurement?
1. The coverage mav not reflact the true situation
2. The coverage could be manipulated by the editar
3. The coverage mav not reflect the primary messages

4. The coverage and parameter may not match
Options:
E4E250412835. 1
E4E35041264. 2
E4E35041265. 3
EAE35041266. 4

Question Number : 143 Question Id : 64635010484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is media measurement?

1.  Itisthe quantification and qualification of the published news/tems as per
determined variables

2. Itis the space covered by certain news items
3. Iris the position of placement of news items

4. Itis the measurement/calenlation of time
Options:
4535041267, 1
64535041268, 2
64535041269 2
6435041270, 4

Question Number : 144 Question Id : 64635010485 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What kind of research design do the consultancy firms apply for media measurement?

1. Survey design

2. Validity design

3. Content analysis design

4. Qualieative design
Options:
64535041271, 1
64535041272 2
EAE25041273 3
E4535041274 4

Question Number : 145 Question Id : 64635010486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What is done with the survev findings of companies in the USA7
1. Submitted to the media owners
2. Presentedin a seminar
3. Placed at a suitable platform for public

4. Stored as a classified document

Options:

64535041275, 1
64535041276, 2
4835041277, 2
64535041273, 4

Question Id : 64635010481 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 141 Question Id : 64635010482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
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EAE35041260. 2
64535041261, 3
64535041262, 4

Question Number : 142 Question 1d : 64635010483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535041263 1
64E35041264. 2
64535041265, 3
64535041266, 4

Question Number : 143 Question Id : 64635010484 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535041267, 1
64G35041268. 2
64E350412649. 2
64535041270, 4

Question Number : 144 Question Id : 64635010485 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
646350412711
64635041272 2

64535041273, 3
64535041274, 4



Question Number : 145 Question Id : 64635010486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

648350412751
4535041276, 2
64535041277, 5
64535041278, 4

Sub-Section Number: 3
Sub-Section I1d: 646350498
Question Shuffling Allowed : Yes

Question Id : 64635010487 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension

Directions :  FRead the following passage carefully and answer the questions given below :

The new digital technelogies have also united interpersonal and mass communication researchers in
their study of health communication, emploving vanous forms of communication to inform and
influence people’s decisions that enhance health. Among the most promising venues of inquiry are
the use of the Intemet as a substmre for a radidenal visit to a health professional and the use of the
new communication technologies in the service of public health campaigns.

Seventy-rwo percent of all Internet users search online for health informarion; a third of Americans
go to the Web to diagnose medical conditions. Eight in ten of those efforts begin at a search engine
rather than ata health-specific site (Heussner, 2013), and more than 40 percent of people’s self -
diagnoses are evenmally confirmed by a clinician (only 18 percent are disconfirmed), suggesting
people are using the technology with some level of skill (Fox and Duggan, 2013). In fact, more
people visit the digital doctor every day than visit acrual health professionals. As a result, many
health-care providers are taking advantage of the Internet delivery care. Many hospitals, clinics, and
physicians maintain blogs to help people navigate, evaluate, and interpret online health information,
often in advanee of a visit. Many doctors offer—and most health plans pay for—e-visits, in which
physicians and patents interact virtually instead of face-to-face. Used pnmanly to ehminate office
visits for routine illnesses, patients simply enter their sympeoms into an online system, and doctors,
typically with the patients” health records electronically accessible, use that information to send a
diagnosis and, whennecessary, a presciption. Evaluation of e-visits undertaken by the American
Medical Associzion suggeststhat the resulting diagnoses are aceurate and far less costly to render
(Mehrotra et. al., 2013). E-visits are not only effective and cost-efficient, they facilitate health
communication in other ways as well. Doctors can attachto their replies information such as patient-
education materials, lab results, prescnptions, referrals, and links to well-vetted websites.

Social networling s ancther site of health communication research interest, especially the use of
information shared among social networking friends to improve health outcomes,

Sub questions

Question Number : 146 Question Id : 64635010488 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What are the uses of new communication technologies for health communication?

1.  Research projects for health professionals

s

Health inquiry and health campaign

Research projects and trial for patients

LFS)

4 Train the public and provide medicine

Options:

64535041279, 1
64535041280 2
64835041281, 2
645350412582, 4

Question Number : 147 Question Id : 64635010489 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What do people/patients do once they want to find the status of their health?
1.  Thev visit special sites of medicine

2. Thev go to medicine shop to buy it

s

They visit digital doctors

4, Tht}' musﬂ}' start with search cnglnc to getin formation about certain
medical condition

Options:
64535041253 1

E4E35041284. 2
E4E35041285. 3
EAE35041286. 4

Question Number : 148 Question Id : 64635010490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What are e-visits”
1. Virtually vasit hospital to see facilities
2. Virtually identify medicine from sites
3.  The phvsicians and patients get connected virtually for consultation
4. Patients visiting the blog sites of the doctors
Options:
45350412587, 1
645350412588, 2

E4E35041289. 3
E4E35041230. 4

Question Number : 149 Question Id : 64635010491 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



How can a doctor initiate health communication in the process of e-visits?
1. By instructing the patients
2 By suggesting how touse new technology

3. Bvreplving tothe queries

4. By attaching health related matenal, web-site and other important link
while replyving

Options:

64535041291, 1
64535041292 2
64835041292 2
64535041294, 4

Question Number : 150 Question Id : 64635010492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How does social networking help the people with health communication?
1. Bwsharing information among the members of a networking group
2. Bwadvertising medicine

By providing information about sites for medicine

Sad

4. Bv pasting wrong doings of the doctors

Options:

64535041295, 1
64535041296, 2
64535041297, =
4835041298 4

Question Id : 64635010487 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension
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Sub questions

Question Number : 146 Question Id : 64635010488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635041279 1
64635041280, 2

64535041281, 3
64535041282, 4

Question Number : 147 Question Id : 64635010489 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64635041283, 1
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E4E35041285. 3
64535041286, 4

Question Number : 148 Question Id : 64635010490 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64835041287, 1
4535041288, 2
64535041289, 5
64535041290 4

Question Number : 149 Question Id : 64635010491 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535041231 1
64535041292 2

64535041233, 3
E4E35041254. 4

Question Number : 150 Question Id : 64635010492 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535041295, 1
64535041296, 2
4835041297 2
4535041298 4



